
A. Find the profit or loss. 

S. NO. COST PRICE PROFIT LOSS SELLING PRICE 

1. 60 75 

2. T590 480 

3. T840 1000 

. 6640 5000 

5 92 T105 

B. Find the CP. 

1. SP =T1300 Profit =R260 2. SP R2800 Loss = 650 

3. SP 650 Loss = 790 4. SP R2000 Profit 7900 

C. Find the SP. 

1. CP = = 900 Profit TI50 2. CP T2800 Loss = R650 

4. CP=T1650 Profit = 900 
3. CP 150 Loss = F20 

D. Find the profit or loss percent. 

2. CP=520 SP=7624 1. CP=70 SP=T63 

4. CP=R1650 SP 1666.50 
3. CP 2200 SP=71540 

E. Solve. 

I. Meera purchased a gas stove for R 1600 and Sold it for *2240. What is her proft 0,9 

2. Gaurav sold a TV for 10,500. He had purchased it tor x 12,000. Did he make profit or loec) 

How much? 
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